
 

 

 

 

a.) 1/2 = 

 

b.) 2/3 = 

 

c.) 2/4 = 

 

d.) 1/3 = 

 

e.) 4/6 = 

 

f.) 6/8 = 
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Think about a bar of chocolate that has 8 equal pieces 

 

1. Would you rather have 1/2 of the chocolate or 4/8? 

 

2. Would you rather have 4/8 or 1/4? 

 

3. Would you rather have 6/8 or 2/4? 

 

4. Would you rather have 2/2 or 7/8? 

 

5. Would you rather have 1/8  or 2/16? 
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 Now create bar models to prove that your answers to question 2 are 

correct.            Here is an example 

 1/4 = 2/8 

    

        

 

a.)                                                                   e.) 

 

b.)                                                                   F.) 

 

       c.)   

 

       d.) 


